1 ODoodgd

gbbobbobbobuoobuoobuoobobbobbobobooboo
gbooooobobobobooboboooobobbooboboooboobo
gbooooooboobooobooboboooobobooooooboboo
gbbobboobboboobuoobuoobuoobuooboboobbob
gooooao

gbobooboobooboooboobooooboboooobooboooon
gbbobboobboobbooobooboobooboobooobooan
gbboobboobbobboobboboobooboboobobboobobob
gboooooobooboboooboobooooboobooooooboboo
gboboooobooooboobooboooog

gbobobbobboobbobboboboobobobobobboboobo
gbooboobooobooboo
ob1l11 0000 X, YOoOoooooooooooo

30000 f: X —Y,30000 g:Y — X,
(go f=idx OO fog=idy)

oobodoooooboooooo

vOoOoOoO f: X —Y,vO0OO0OO g:Y — X,
(gof#idx OOD fog#idy)

ocooooooooooooooooooOoOoboboooboooooooo
goodoboboboboooooboboobbboooobnbbobbobooog

ooooooooobooooooo Z2

obood R

00 S'={zeR’||z| =1}
e0IDOODOOC

e 00 R?

00000000000 COD0000000000000000 {0,1}00

DooOoo {0,1}R0000000000000000000000000

00 {)Y 2 |ae{0,2)}Cl0,]0000000
=1 3

0000D00000D0000000000000

e D00000000000DD000000000NNN0N0N00N0n

D000 ZOOODOOOOOODOOOOODOO00Z000000
D000D000000000

e 0000DDDOOODOODDOOOODDDOD S, O0OOD0DOO
Ocooooooooooooooooooooooogoo

e JJ0DODOODOOOODOODOUZOOUODODOODOODODOOO
goooog

gbooobooboobooobooboobobooooboobobooboobooboooboon



0000 |(0D0Doo0 |00 (oDooooo
oo goad
Z N0 X X X
R NG X o x
oo st Nt o o o
ogoooooo C n! o X X
R2 N X o o

O00000000000000000 ROOO RPOODODOODOODN
gbooooooobooooog

e JOODOOOLOOODODODLOOODOO

O00D000R~{00}000000000R?<{00}000000
0000000 ROOO RPO0O0O000O

O00O0DO0O0O0R,R? R®,..0000000000000000000
0000000000000 000000000000000000000
O00OROO0ODOOOOO0O0OOOOOOOOO0OOOOOOO0O0OOOOO
000000000000000000000MO00000000000
0000000000000000000000000000000000

goodobobbbobooooobobbobbbooooooonoo

00 1.2 (1) OO0OOOO [DODOO0O0O0O0OO K41 00000m<nO000
0000000 R — R"O0D00O0O0OO0OO0OOO0DOOO0OO0OO0OOO0ODOOO
gobooooooooooooboooooooon

() 0OOOO (0,1 — [0,1]?000000000000000000000
R™ — R"0000000

0000000000000 0000D0000000000000000
O0000000000000000000000000000000000
O00000000000000000000000O0O00 x00O0 {0,1}
O000000000000000000000000000000000
000000000000D0000000D000000000000000
O000000000000000000000000000000000
O0000000000000000000000000000

2 Juooooood

21 0OO0O0OooobOoOoOd

00 21 (00) 0000 XO00OO0OOOOOOoOoOooooooooooo
ovu,vooooooooogoo

vuv=X00UnV=40

00 2.2(0000) 0000 XO0O0OOOO0OO0OO0X000000 o,
0000000 0,100 X000000 v:[0,1] — X 0 ~(0) = o,
v(1)=2,00000000000000000

0o00 230 0OO0O0O0XOOOOOOOOOOOoOOoOOoooOoooooo
01R8o0o0o

0024 0OO0O0OO0OOOOOODOOOOOOOOODOOOOOOODOODOOO
gobooooooooooooo



22 00000

ooooooooooooobDbOobOOoo0ooooooDboOobobOoOo Xo
10000000 4{p} 0000000000 DOOOOO

00 2.5(00000) 0000 X,YO00000000O fo, 1:X —Y
0000000 (homotopic) 00,0000 F:[0,1]xX — Y OO fo(z) =
F(0,z), fi(z)=F(1,2)00000000000000000f, 0000
000000000 fo~ /400000000 FOOOO fi(z) = F(t,z) 0
00000000000 0 fo0 400000000 (homotopy) D000

0000 X,YOOOOMap(X,Y)O X0O0O0YOOOODOODOOOO
oooo
Map(X,Y)={f: X —Y | f00000}

00 Map(X,Y)0OOO0O0O0O0000000000~0000000000
00000000000000000000000 Map(X,Y)/~0 [X,Y]
000000000000000

ooo 260 0000 fy, A:X —YOOOOOOOOODDOOOOOO
h:W-—X, g:Y—Z0O0O0O0Ogo fooh,gofioh: W —Z0000
oobobobooboboboobooo 18sgoog

000270 0000 XOO0OYOOOOOOOOOOO Map(X,Y)OO
~O000000000000000000 180000

Ut 28 ODO0ObOOoOOOOOOoOOOOoOOOoOobOOoOOoOOoOOobLOoObObOO
goboooooooooboooboooboooooboooobooboooooboboobooooon
gobooooobooooooboooobooooooobooooooboobooooboo
goboooooooooooon

00 29 X,YOOOOOOOoDOoOXoOooOooooOo Xy, ..., X000
k

DDDDDDDDXiDDDXDDDDDDDDDDDDDDDDX:UXi.
i=1
00 f: X —YOOOOUOOOOOOi=1,...,k0000fX;:X; —Y

gbooooooobooooog

00 f:X-—YDOOODDOOOYDODODODO ADOO f74(4) 00000
000 (fIX) 1A =X,nf(AD00X;,000000000X,0000
0000000000fX;:X;, —YOOODOODODOODODOOOODOOD
00 ACcYDOOOX;Nnf 14 =(fX:) (40000

k k k

Ay =Uxon i@ =Jean @) = Juxo )

1=1 =1 1=1
O000fX;:X; —YOOOOOODODOOOOOODOD AcCcYyQOoooO
(fIX:,) Y (4)0 X;00000000X,CcX00000000(f|1X:)~1(A)
k

0D X000000000000f-Y(4)=J(f1X:) (400000000
=1

0000000 X00O000000000 f000000o0 n

000 2100 000000O0OO0OOOO XOOOO,nO000000000

0OR'O0D0D0DDOODODODOOOD [X,R"000D00DO0O0O0OO0OOO

000 000 f:X—R'00000000 00000000000
O00F(t,z)=tf(z)0000000



0000 XO000O0O000000,{p}00000000000000
{p},X]000D0000D000000000000O0D0O000000000
X0O0O0OO[{p},X]0OX0OOOOODOO0O0O000000000

0002110 (1) 00D000000D0000000 KOOOOOXOO
000000000 [K,X]0000000000000000000000
000000

(2) n000000"=[0,1"00000 XO00000[{p},X]0 [I", X]
00000000000000000000 180000

0000 n0000S"={zxecR"" ||z =1}0-00000000
0000000 [$,X]000000000000000»0000 S*0
00000 XO00O00O0OO0O00000000000000000000
D0000000000000R00 (n20)00 8" 0n+10000
Dtl={z e R"" ||| £1} 000000008 =D .

0002120 0000 XO00O0O000f:8" — X00000000
¢g: D"l — X0O0Oyg|S"= 0000000000000 f000000
0000000000000000000000000

000 ¢0DO00000O0F:[0,1]xS"—X0OF(t,z)=gte) 00000
FOOOOOFQO,z) = cye)(x), F(lL,e) = f(x) 0000 000 Ocsq O
f(0)0000000000000 fO00000 ¢,00000000000
0000000 F:[0,1]xS"—X00be XOOOOF(0,z) = cp(z),
Fﬂ@)zﬂ@DDDDDDDDDDDDDDg:D“1—+XDg@):
-ﬂmwmm)y#o
b y=0
{0HDO0OO0000D0LOOOOODODODoOUDODOOOg YU)=(g/(D™~
{o))"Y(v)yoop i\ {o}0OODOO0OOOD ™ 0000000 OKOODO
000U0000,X\0000000000000FY(X\U)C|0,1]xS"
00000000, xS"0000000000F Y(X\0U)00000
00000 HX\NU)={te | (t,z) e F-HX\U)}0000fHX\D)
000000oOoOp*00000DooooNooofY(X\U)0D0oooo
000D0D00000g Y (U)=D""'\f(X\U)0D00000000000
¢g0000000

00000¢000000000000g|D™!

00 213 (n00) 0000 X0,0<m<n00000[S™ X]0000
000000 »-00000000000

ub211g000o0bo0oboboboooboboobocooboobooboon
002100000k0000000000 R*OODOO 0000 2000
ooo

23 0OO0O0OO0oOooboo

0000 X,YOOOOOOOOOOOO0O0O0O000000000000
0000000000000000000000000000000000
00 {p})00,0000000000000000000000000O0
000000000000000000000 XO0000[X,{p}]0 [X,I"]
0000000000000[{p},X]0 [/~ X]0000000000000



gbooooboobooboboboooooboboooobooboobo
obooooooboobooboobooogoooon

00 2,14 (0000000) 0000 X, YOOOOOOoooOQ f:X —
Y,9:Y — XOOOOOfog~idy, gof~idy 000ODOOODO0
0o0XoOYUOOooooooooooooooX~Yooooxo Yoo
000000 (homotopy equivalent) DO 0D OO000 (OO0 ¢g)000O0
00000000000 (homotopy equivalence) 10000000 g0 00
f)0 f(000¢)000000000 (homotopy inverse) 0 000

002450 (1) 0000000 X,YOOOOOOOOOOOO
(2) 0000 {p}0n000000p0000000000000000
00oooo
(3) n000000000000000000000 R*~{0}0n—10
000 S '00000000000000000 h: RxS™! — R*~{0}
O h(t,z)=elz 0000000A0000000(2)00 810 R"~ {0}
000000000000

00 216 (00) 0000000000000 0OO00O0ODOOOOOOOO
gooooao

00 217 (00) n000000000000O0OO0OO0 ADOOODO (x)00O
0O A0D0DyO0O0O0O00AOOyOOOOOOOOOOOOO

() 000 2 € ADDDOOO bp={(1-t)y+te |0St<1}0 ADD
oooo

n000000000000000000 ADDDODOOOOOOADyEeA
O000000000yecADOOD ¢ :{p}— A, 00¢c:A— {p}00
0000cocy =idg,y, cyoc~ida 000000000 F:[0,1]xA— A
O0F(t,z)=(1—-t)y+te 0000000
0002180 000000000000000000O0 ~0000000
0000000000000000000000000000000000
000000MO000 190000

ood 2190 00 X, YyOooooooooooooboooooooooo
oon
X:{(x,y,z)6R3 | ((x2+y2)1/2—2)2+z2:1}
U{(z,y,2) € R® | y=0,(r—2)2+22<1}
Y ={(z,y,2) € R® | (@ +1)?2+y2+ 22 =1}
U{(w,y,z)eR?’ | y=0,(x—1)2+22=1}
ogoooi1moooo

000000000000000000000000000RO R™ (n 2 2)
O000000000000000000000000000R?0000
R’00000000000000DO0DO0OO00O0OODODOO0NOO
gbooooooooooog

00 2.20(00000000000) 000000000000 O00OO0
000000700000 2000000000, VOODO0Or =01,
r=v~voooo



O 1:00220000000000000 O

0002210 00000000000 22000000R?0 R" (nz3)0
oboooooooboooo

000 R"(n=3)00000 C = {(cosh,sind,0,...,0) | # € R} OO0
0000000000000 = (21,2,...,2,) 00000 (x3,...,20) #
(0,...,0)000 yu(t) =t (t€[0,1))0 20 000000000 O(zs, ..., 2n) =
(0,...,0)0000e; = (0,0,1,0,...,0)0000

1
’yw(t) _ 2tes (t S [0, 51])

Dz000000000000000

O0D0O0OR’0R" (n23)000000000000000A: R” — R?
000 COO0 AC)0D0DO0O0DO0O00O00 R*\AC)D00000
00000000000 AC)0 R*O0D0000OO00DD0O0D0oOnoan
000 2200000R?*\A(C)00000000000000CO0O00OOO
O0O0D0OR*0R" (n23)00000000

0002220 (1) 00D0O0OOO0O0DOOOODOOOOOOOOOOOOOOO
obooooooboobooooobobooobobooobooboon

{((2+7rcosf)cos20,(2+rcosf)sin26,rsinf) | r e (—1,1), 6 € R} C R?
ubobobooboobooobooboooba
1
{(581,1‘2) S R2 | Z < 1‘12+$22 < 4}

obooooooobooon
(2) DOOOOOOOOOOUOOOO,0000000O0O0ODO0ODOOOO
gbooooooboobooboooooogoboo

000 2.230 (1) R*~{(~1,0),(1,0)} 0 S* x S'~ {(0,0)} 00000
00000000D0D00000000(0,0)eS'xst00st=R/Zz0O0OD0O
00D0000000D0oO
(0000000 StvsS'OO000O0O0ODOODOOO0OO0OODOODOOOStvSto
00000000000000000000000000000)

(2) 0000000000 000000R*~{(-1,0),(1,0)}0 S'xS*'~
{(0,0)} D00OO0D0O0O0OOOOOOOOOO 190000



02002230 St xS~ {(0,0)}

11
0 3 002230 StxSt~{0,0}000000 [—5,5] ~ {(0,0)} O
R2\{:|:el}

24 0O000O0DOOOOO

00 RROOD0=(0,000000 R2~{0}000000 {#e} (e; =
(1,0) 0000 R*\ {+e;} 0000000 $'000000000O0O0O
0[S, R*\{0}], [S, R*\ {+e,}] 00000000000 0000000O
0000000000000 000000000000000000000
0000000000000 000000000000000000000
000000000 S'00000000000000 $'00000000
0000000000000 000000000000000000000
000000000 000000000

00 2.24 (0000000000) 0000 X0000000 AO00O (X,A)
00000000ADDDbeXO0000000(X,{p})0 (X,b)0000
0000000000

00 225 (0000000000000000) 000 (X,A), (Y,B) 00
0000000 f: X —Y0O f(A)cBOOOOODODOf0000 (X,A),
(v,B)00000000000f:(X,A) — (¥,B)0O00OO0000000
0ooo fo, A1:(X,A) — (v,B)000000000000O0 fo, 100
000000 F:[0,1]xX — YO F(0,1]xA) cBOOOO0O0O0OO
000000000f(z)=F(t,2) 000000000000 f(A) c BO
00000000000000000 f,0 4 0000000000000
fo~ 10000



0000000 F:[0,1]xX — Y OO[0,1]x (X, A) = ([0,1] x X, [0,1] x
ADODOOOF:0,1]x (X,A) — (Y,B)000000000

Map((X,A),(Y,B)) 0000 (X,A), (Y,B)0JOOOODODODOO0000O
0000O0O0~0 Map((X,A),(Y,B)00000000000000000
000000000000000 Map((X,A),(Y,B))/~00000000
0ooo[(X,A),(y,B)]O0000

00226 000xeA0000 fi(z)=fo(x) 0000000000 ADDOD
000000000o0ooooDooooooDoDDoODODODODODODOOOf~ fi rel. AOO
goU0oO0ooUooooUoooooooo0(x,Aoouoooouo (Y,by)
000000000000000000000 fr(A)=by 00000000000
000000000AD0D0O0O0ODOO0O0OO0DOOODOO00 fo~frre. ADDDOODO
goooogod

000 (X,A), (Y,B)0000000000000000021400000
ooood f: (X,4A) — (,B),g:(Y,B) — (X,A) 00000 fog ~
idiy.py: (Y,B) — (Y,B), go f ~idx.a : (X,4) — (X,A) 00000
00000000000000000000(X,A)~(Y,B)000000
0002270 B'"={zcR"||z| <1}, 5" '={zecR"| |z =1}0
ooooo(Bn, s, (R, 1), (R",R"~B") 00000000000
0000000000 200000

0000000 (X,b)0 ({b},6)000000000000000: : ({b},b) —
(X,b), r: (X,b) — ({b},) 0000 0ior ~idx, 000000000
roi=1id,) 0000000000000D00000000(X,b)00D0
gobogboboobobobboboobuoobuoobooboobooboo
gooooobobooboo

000 (X,A)00(4,4A0000000000000004: (4,4) —
(X,A),7r:(X,A) — (A,A)DD00007r0d ~idg = id(a 4y, 07 ~id(x,a)
000000000000 0oodO0oudbOrod=1ida =id, ), 907 =~
id(X,A)rel.ADDDDDDDDDDDDDDAD XO0Ooooooboboo
O000roi=idy 0000 r000000O0O00OOODOOODOOOODOO
rJ00000A0 XOOOOODOOooooood

00 2.280 (1) 0022000000 £(SY)0000000 MOOOO
000000004(SY)Y000000 ADDODDOO00O0O000O
(2) S0 R~ {0}, D"\ {0}000000000000

000 (X,A) 00000000 (Y,)0000 f:(X,A) — (Y,b) 00
0000f(A)=b000000X00000A0000000000000
000 ~0000000000 X/~000000000000 X/~00
0000000000000000000000000 X/~00X000
0 ADDDDDOO0ODOO0OOD0OOX/AODO0DOO0X/AD000000 A/AQ
000000000 (X/A4,A/A)0000000000X/A0000000
0000000AQ XOOOOO0OOOX~A— X/ANA/A0OO0OO
oooo

0002290 000 (X,A)D00000000(Y,5)0000 f:(X,A) —
(Y,p))00000A, {p}0000000f000 f|(X~A): XA — Y~ {b}
0000000000000000X000000000YD000000
000000 f: (X/A,A/JA) — (v,p))0000000000000000



1f////§% 11f 1
2 12 2 2
zﬁ/f /

04 003200000000000000000

goo200000

00 2300 00 2120000(X,4) = ([0,1] x S7,{0} x $») 0000
(X/A,AJA) ~ (D"+! 0)0000

000 2.310 [0,1]%/0[0,1)" ~ D"/0D" ~ S"000000000200000

3 duooon

3.1 000000000

000 0,10 I0000r000001I"=Ix---xI=[0,1]"000
0000 (0,1)000 (0,)"0000M0000 dI™=10,1]"~(0,1)" O
god

000000000 (X,bx)0000000 (I™oI™)0D0D000D00O0
0 Map((I™,0I™),(X,bx)) 00000

fi, fo € Map((I™,0I"),(X,bx)) 00000000 figfe : (I",0I") —
(X,bx) 00000000 (ty,t2,...,t,) = (t1,) 0000

' 1
Gy =1 ) (heh%)

f2(2t1 — ].,t/) (tl € [%, ])

000D0000D00000000 [I7,3IM),(X,bx)] 0 m(X,bx) 0000
(X, bx) = [(I™,0I™), (X, bx)| 00000 (aq,02) — a1z O aq = [f1],
az=1[fo] 000 f1, 00000010 =[f1lfe] 000000

0000 32000000000m,(X,bx)0000000000O0O0ODOO

00 3.1 000000000 (X,bx)0000m,(X,bx) = [(I™0I"), (X,bx)]
0Dy0000000000000000 (X,bx)0 0000000000
0010000000000000000000

000 3.20 (1) 0000000000 DOOO0000O (well defined) 00
0000000000000000000000000000

(2) DOO0D0DODOO0ODDOO0OO0OO0DODO0O0D0O0O000004000000

(3) bxODODOOODO &, 0000, 0000000 [e,)]00000
0000000000000

(4) f € Map((I",0I"),(X,bx)) 0000 f(t1,t') = f(1—t1,¢) 000

0000000000000 0000 [f]0000000000 [fl0000
oooooooobD400000000000210000

ugoob 330 OObOOd



(1) 0000000000 O00000 f:(X,bx) — (Y,by)0DDOODOD
a € Map((I™,0I™),(X,bx)) O foa € Map((I™,0I"),(Y,by)) DO O OO
0000000000 fo:m(X,bx) — m(Y,by) 00000000000

(2) 0OO0 f:(X,bx) — (Y,by), g: (Y,by) — (Z,bz) 00000
00000000 gufe = (g0 e : ma(X,bx) — m(Z,b7) 000000
ooo

000 (1) D00A0000000000ae=~ar: (I™8I") —s (X, bx)
000000000000 ooUuoo00ooo0g H:[0,1] x (I™oI™) —
(X,bx)D0OO0foHO foap~ foa D0DODOODOODD
O00q, B: (I™0I") — (X,bx)O000O fo(af) = (foa)(fop),
fea=foannnoO0 f(a][f]) = fu(@)fa(B), fulla]™) = (fila))™!
ogooooobooooao
(2) a:(I"0I") — (X,bx)O000O(go f(le]) = [(go f)oa] =
[go(foa)] =g:([f oa]) = g.(fulla])) = (g« o f)([a])
000 840 OO0DO0DO0DOD0 fo, fi: (X,bx) — (Y,by) 00000
000000000000000(fo)s = (f1)s : (X, bx) — mn(Y,by) O
oon

000 fo~fi:(X,bx) — (V,by)JODODDOOODOO F : [0,1] x
(X,bx) — (V,by) DOOODa: (I",0I") — (X,bx) D000 Foa OO
fooa, fioa: (I",0I") — (X,bx) 00D00D0DO0DO0DOOOO0O
(fo)e([a]) = (f1)e([0]) DO DD Ja] € mu(X,bx) 000000000000
(fo)x = (f1)«-

000 3.50 (X,by), (V,by) 000000000000 0000m(X x
Y, (bx,by)) =2 m,(X,bx) x m,(Y,by) DO 00O

000000 pry : (X xY, (bx,by)) — (X,bx), pry : (X XY, (bx,by)) —
Y,by)OOOOOOOoooo210000

000 3.60 n=z2000007,(X,bx) 0000000000000
O00000D00000000000 K = [ay,b1] X -+ X [an,ba] C [0,1]"
0<a;<b;<1,i=1,...,n) 0000 fx: (I",0I") — (X, bx) O,
tl—al tn—an
I

Fet) = bl—al""’bn—an) (te K)
bx (tel"\K)

00000fx0KODOOOOOO f00000000000f, fo: (I",0I") —
(X,h))000000000000000 Ky, K,O0O0OO0K,00 (fi)x,, K»
00 (fa)ky, I"~ (K1 UK,) 0 b00000 Fg, x, 000000n =200
000K, K, 0OOO0OOO0O0O0O0000000000000000000
00000220000

00360000r>2000007,(X,bx)0000000000000
0000000 .00000000000000,>2000000 80
O0000m (8", bse) =0 (1<m<n—1), m,(5",bgn) = 2000000
000mm(S"bge) (m>n)0000 mOO000000000000000
ooooooo
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(fl)K1h(f2)K2 (fQ)K2h(f1)K1

05 7,(X,b) (n>1)000000000 3.60

3.2 0O0OOOOOOOoOO

0000, 0000 idy : (X,bx) — (X,bx) 000000 (idx)s =
idy.(x4x) 0000000000 330000000-,0000000000
0000000000000000000000000000

0000000000000000000.-,0000000000000
000000000000000000000000

e 0000000D0O0O0OOOOD f:(X,bx) — (Y,by)0OOOOO
fo i (X, bx) — (Y, by) 000000

e 000D idy : (X,bx) — (X,bx) 000000 (idx)s = idn, (x.5x)
0ooo

e DDDODO f:(X,bx) — (Vyby), g: (Y,by) — (Z,bz) 000000
0000000 gufe =(gof)s: mn(X,bx) — mn(Z,bz) 0000

000000-,000000000000000
(00D0DO0oO0OO0O00QpO0O0O0O0O0O0O0O0On)
0000000000000
(0,00000)

00000000000000000000000000000000000
0000000 (X,bx), (V,by) 00000000000 0000000
O mp(X,bx), 7 (Y,by) 000 000000007,(X,bx)0000000
0000000000000000000
00000000000000000-,000000000000000
00000000000 1000000000000000 3400000
0000000000000000000

e 0000D000OD fo f1:(X,bx) — (Y,by) 0000000000
0000000000 (fo)s = (f1)s: (X, bx) — m,(Y,by) 0000

oboOnb0OO000D0OO0OO0OOOOODOOOOOODODOOOOODOOn
O0000XO0O000000000000007,(X,bx) 0000000 bx
gboooobooboboooogooan

000 370 000000000 XOUOOOm(X,bx)0ODO0OODODO
bx OOOOODODOO0DOOOO0DOOOOOO0D220000

000 3.80 000U00O0OO00OOD XOOOOm(X,bx)OOOOOOO CO
00000000 [SL,X)]00OD0O00000000000000000oa0a
ooooooooboo20000
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3.3 n0O0O0

0ooo (moMm0o0oo (BvS»YYyooooooooo (I™,aI) =
(10,1, 8([0,1]™) O ([-1,1]",8([-1,1]") 0000000 & — 2&—(1,...,1)

max{|z;|} o

0oooooooo(-1,1a0(-1,1)0 (B*,S»HYood « — ||
0
0000000000000000000m,(X,bx) = [I",0I"),(X,bx)]00

OB S 1), (X,bx)|0000000000000000 (B, S HoOoo
0000 (S",bs-)00000000000000D00D000O0DO00OO0DOO0
(X,bx)0000000000000000000000B*00000 S*10
00000oooooooooo Br/s~tooooo(Br/snt sn-t/sn-l)
0 (S"bs»)00000000DODODOD

000 3.90 00000 [(S™,bs),(X,bx)] =m(X,bx) 000000000
240000

000 3.100 nO000000000D" ={zeR""||z|<1},5"=
oD ={z e R*"' | || =1}00000000000 X000O0O0OO
bxD00O0O0DM 7, (X,bx)00000000000000000 f:8" — X
O000g: D! — X0OgloD"!' = f000000000000000
ooooooooooo

000000 212000 3.700039000000000240000

000 3.110 n00000"00mO000000O0O0O0 R™OO0O00O

Uyooooon f:/"—U0000000 f0000000000000

g:I"—UD sup lg(t)— f(#)| <eODODODOODODDOO0O0s€[0,1]0
teln

000(1—-s)g(t)+sf(t)eUDDODOD0000000000250000

000 3120 nO00000 /0000000000 &MO0000mO
000000000 R"O0D00 UDO0000D0beUDO0O0O0OODO
f(Im0I") — (U,b) 00000 f: (I"0I") — (U,b) 00000000
000000 g: (I",oIY) — (U,b), f: (I",0I") — (U,b)) 000000
000000000 F: (™00 — (U,p)) 000000000000000
0000000000/"0000000000007,000n+100000
0000000000000000000000000000000000
00000000000000020000

000 3.130 (S bge) 0 (R™' < {0},bs-) 0000000000000
0000000k<nO0000m(S",bs»)=000000000000000
250000

000 3.140 UCR'O0000O00000000O0beUOUDOOO,pelU
0p000000000k<n—100000000i:U~{p}—UDODO
000 i, : m(U~{p},b) — m(U~{p},b) 0000000000000
oo20000

4 00O

0000000 (X,h)00000000000000000000r,(SY,bg1) =
m(R/Z,0)~Z0000

12



4.1 000000

00 R/ZOOOOOOOOp:R— R/ZOOODO
00000000000000 f, f2:[0,1] — ROOpofi =pof 0
00000000000 200000 fi(z)=fo(z)+n000000000
O000po(fi—f2)=pofi—pofs=00000f(z)— fo(z) e ZODODO
0of,—f000000000[0,1]0000000000000000 n
00000 fi(z) = fo(e) +n0000

0000000 [0,1]0000000000 f:[0,1] — R/Z0O0000
000 f:0,]] - ROpof=f000000000000000000
0000000000000000000000

(1. 00000000000000000

—é,é) mod 1, vlz(o,g) mod 1, sz(—g,O) mod 1
0000000000 é0OoOoooo1bodx0 600 Be(6)OO
F(B2(5)0DOVy, Vi, ,OOOODOOODOOOOODO [0,1]0000
Ui = f~(v;)ODOOO[0,1]0000000 gi(x) = dist(z, [0, 1]~ U;) (i = 1,
2,3)000000000000000000000U,UU,UUs=10,1]0
000 max{g1, 92,93} > 0000 0max{g1,92,93} 00000000000
0000600002 (0,1]000000D0+000000gi(z)26000
D000DO0B,0) cU; 000000
(%.mDDDDD6DDDD%<6DDDDDDNDDDDMHD
m—1 m
[—~— ] (
— RO0pofr=f|m1 » 000000000000000

Vo= (

OO0 NODOOOOODOD m=1,..,N)0O00O0Ofn :
N
N ’1N 11

m — m
—_ = ;000 00000ooov,ooooood(—=,-) 0
f([ N 7N])CV g Vo ( 33)

DDDD%DDmmmmm@gﬂmmmmgmmmmmmme;mDD
0000 fnO pofn=flma »00000000i0000000000
0ooo

@.DDDfDDDDDﬁﬂDDDDDDDDMj%DDDDDD

DDDDDDDDDDDDDDDﬂMﬁ::ﬁDDDDﬂm%HDDDD
DDDDDDDDpo@ﬂ%#Q—ﬁAﬂii»:ODDDDmneZDD
ﬂﬂﬁiwjkﬂg;ﬁ:anDDDDDDDDDDDDDﬂmﬁ%V:
fm+nm00000f|p= 0000000000000000000000
0o f:[0,1] —ROOO0O0O0O00O

0000000 [0,120000000000 F:[0,12 — R/ZOOODO
0000 F:0,1]2— RO poF=FO0O00000O0000000O0
oooooooo

(1). 00000000 460000000[0,12000 20600 B,(6) O
0 F(B.(6)00V, V4,V 000000000000000 (1)00000
oooo

1

0
2. (1)bboo0o0 é000D0D=-<—=00000O0NDOOODOOOO
@. (1) ¥ <75

1
00,1?°0000000 N[II:I[II:I[I N2O0DDOOO0OO0OD0OOO0O00000

my — 1 m]x[mg—l mo

Km1m2:[ N 7N N 7W]DDDDFm1m2D7POFm1m2:
F|k,,., 00000000000

13



@)mmeDDDDDDDDDDfMM:FHDDDﬂUM%mm
00000000000F| k0, O Fonyme Tmims (mym, € Z)000000
0000000000 Kmyms O U, ky<mym, Kk 000000000000
QDDDDDDDDDDDDDDDDDDDDDDDDFbMKMM
Frym, 000000 Nnymy, €Z0000

O00F'=R/Z0OD000bs: =0 mod 10000
0ooo f:(0,1],{0,1}) — (S',bs:) 00000000 f:[0,1] — ROD
pof=f00 f(0)=0000000000000000A(f)=/(1)000
O h(f)eZz000000 h:Map(([0,1],{0,1}), (S, bs:)) — Z 00000
1~ f2:(0,1],{0,1}) — (SY,bs:) OO O h(f1) =h(f.)000. 0000
000000fA0 00000000 F:[0,1]x([0,1],{0,1}) — (S*, bg1)
00000000 F:[0,1]x[0,1] — ROOpoF=FO000000O
O000000O0F(s,0) e ZOOOnOO0F-n00000FO0O0O
O0F(s,0)=0000000000000000F(s,1)eZ0000000
h(f1) = F(0,1), h(f2) = F(1,1) 000000A(f1) = h(f) 0000

000000 ADOOOO0 ¢: m (S, bg) = [([0,1],{0,1}), (S, bg1)] —
Z 00000O00eO0O00O00O00000000F : ([0,1),{0,1}) —
(St,bg1) (i=1,2)000000000 f;:[0,1] — ROOpo fi = f;,
00 £(0)=0000000000000f8f:[0,1] — RO fitfa(t) =

Ren  well]

Rt -1+ ) (e [3,1)
h(f2) B OO0e([f1][f2]) = e([fiD+e([f2)BOOOODOS : ([0,1},{0,1}) —
(S1bs) 0DOD0D0f(z) = f1—2)000000 f: ([0,1],{0,1}) —
(Stbs)) 0000000000 f:[0,1] — ROOpof=f,00 f(0)=0
0000000000t =f1—t)—f(1)00pof=700 F(0)=00
00000000000000AR(F)=-h(f)0000¢([f]1)=—¢(f]) O
oooo

000@O0000000000000000000ke Z0OOO0Of, =k
0000/ :[0,1] — ROODODOODO0Og(pofr)=k000000000
000000000000000000000f:([0,1],{0,1}) — (S, bg1)
000 o(f) =0000000000f =pof, f(0)=0, f(1) =000
0f:[01 — ROODDDOOOF(t,z) = p(tf(z)) 0000D0F(0) =
F(t,1) = by D000 F(0,2) = b, F(1,2) = f(z) 000000 F O ¢,
f:(0,1],{0,1}) — (S',bs) 000000000 00000000f]O
m (St b)) 00000000

0000m (St bs) 2000000

0000000 Z0OOOOOO0OO0O0000000000000000

Kiyko

Kiyko ™

00000000000A(fiff2) = h(f1)+

000410 Tr=S8'x.-.-xS' (n0000)0000m (T bpa) 000
000000020000

000 420 D? = {(z,y) € R’ | 2 +y> £ 1}, S' = 9D? = {(a,y) €
R*|2?+y*=1},000b=(1,0000000000 ¢: (S, b) — (D%,b)
00004, :m (S0 — m(D%,0) 000000000 f:D? — S100
foi=ide: 0000000000000 DO000OO0O0DOO0260000

000 4.30 20000000000 R*°030000000000000

14



R" (nz23)00000000000000000DO260000

Ooooo00 ZzOoooooooOoooooooooooooooo 6
gbooooboboobooboboooobooboboobooobooonog
ooog

000 440 (1) 0000 XO0OOOO0 ADOO0OO0XOOOO da(z) O
da(r) = inf dist(x,0) 00000 0ds: X — ROOODDO000000
(2)X000000000 fi, ..., s 0000F(2) = max fy(x) 1000
0000 F:X— ROO0ODD000000O0O00
(3)000000000 X0000000 {Uy,...,0,} 00000000
0000460000000000Mé00000000Om

e 00000 zeX0O600 B,(6)000DOD00O U (je{l,....k})
000000

oboooo20000

4.2 0000

000000000000 0000000o0o0gn
0GOO0O0GUUOOODGxG —GO00O0000000o0oo0oo
000000 1000 ¢g000 ¢ ' 00000000000000O00 GO
0000 SO0000 GoOO0D0 SO000000D00D0000O0nO0oo0ono
00000O00SO00000000O0ooooooGooOOD Sonooo
0000000000SO00000000MO000000000000 S0
000 w, w, 0000000000 wiw, 0O0DOOO0ODOOO0O0OO0ODOODO
000000000GELO0O00000000000000O00000no0oOo
O0w=s1--8x (s,€8,i=1,...,k)00000w =87t o5,71 0
0000w, =w, 00000000ww,"'=1000000000000
0000100000000000001000000000000000
000000001 0000000000000000000000000
000000001000000000000000000000D0000
00000000000000 ss '=s"1s;=100000000000
ooooOoooon

DDDDSDDDDDaDDDDDDDDDEDDDDDDDDDDDDD

0000 1=a% ke Z-o00000a* =48, a %= (¥ 00000
@id* =**000000000000000000 ZOOO0OOO0O0O
SO kOO0 sy,...,s:00000000000000000000000
000001000 s, -8, 0 e==%1(¢(=1,...,5)0000000
000000000000 s, =s;,, 00 eq+e1 =0000¢0000
00000000000 00000000000000000000000
0000000000000 0000000000000000000 kO
sfsis]slsislsis)s
0GO0O000000SO000100000000S0000000 RO
0000000000000000000000k00000000000
0000 SO00000000000 FsOOOOORO FsOOODOOO
O000O0ONRD RODD FsOOOOOODOOO0OO00O00000000O0G
0000 Fs/Np0OOODODODODDD Fs/NgO (S| R 0000

15



0000Z/3Z={a|d®), Z°={a,b|aba"p"") 000000

00 4.5 (0000000) 0000 Gy, G, 0000G, 0 G, 0000 Gy
GoO00G1=(S1 | Ri), Ga=(S | R)) 000000

Gl*G2=<SlL|SQ | R1L|R2>

goooooooood
|:|G12DDDDDDilIG12—)Gl,i22G12—>G2DDDDDDDDD
oon Gl * GQDD
Gi2

G o G2 = (51U 8> | Ry URy) U {i1(g12)(i2(g12)) " | g12 € G12})

gbobooboboobod

00020000000 (a,b) =ZxZ0O0O0O0G = (S| RO0OOO
S, RODDODODOO0OOODO Fs, FROODO0OO4 : Fr — FsOOO
000000000000, 4: Fp — {1} 0000000000000
G:<S|R>:FS;R{1}DDDD

4.3 0O0OO0OOO0OO0O0OOO

00 4.6 O000 XOOODOODOOO U,,0,000000000000X =
U,uU0,0U,, Uy, U, =UN0, 0000000000000 b€ Up=U.NnUs
000000000 4 :U;e —Up,i2: U — U, 00000000000
00000000 414 : m1(Ur2,b) — 71(Uy,b), ios : 1 (Ur2,b) — w1 (Us, b)
00000000 Om((X,p)) 000000000000
771(X,b):71'1(U1,b)m(U*mb)m(Ug,b)
goodoboboobbooboooobbooooooooobbooooooooo
Jooooobobobobooooooobobbooooooobooboooogo
doooooooooboooooooooooooooooooooooo
dooooooooobooooooooboooooooooooooo
gooooboboboboboboooooobobobooooooooooooboo
gooooobooboooooo

00470 StvstoOoOoOo (SYLbs)O b OO0 BO0ODOO0O0OODO
ooostvstooono (Shes)OODOO U4, U, 000U, NU, 0000
00000000000000000000m((U;NUz,b) ={1}0000
71 (Ui, b) 2 m(Shbs1) 2 Z (i=1,2) 00007 (ST Vv S b) = my(Up,b) *
m(Us,b) =2 Z+Z0O 000

Jod4.80 0ODOOOoOooOO
T? ={(z,y,2) € R’ | ((x2+y2)1/2—2)2+z2:1}
gooooou, o

X={@y) e R [y=0(x+2?+:2=1)
Ulleg2) € R 2= 0,02 442 = 1)

16



Co

0600480 0,000,0,00000 U000

Oe00 (6<01)dU,=T?>X000000T?=0,00,000000
0006000

000 0O0b0U,=U,N0U,000(-1,0,000000z>000y<00
000000UNU20 S'x[0,1]0000000000 m(U;NU,b) = Z.
U, 00X000000000000X0 Ss'vsSt0000000000
O0D00000000000D000D0D0000000D0O0 37000000
007 (Up,b) 2 m(StvShbx)2ZxZ00D0D0DO0O000bx = (—1,0,0)
0000m(X,bx)DODODDO0OXDO S'00000000000 aq(t) =
(=2 + cos2nt, 0,sin27t), as(t) = (— cos2nt, —sin27t,0) (¢ € [0,1]) DO O
000 a1,a:00000,0000000000000m(Us,b) =2{1}. O
000 (1)« : m(U1 NU2,b) — m(U,0)) 000000000000 600
0000000m(Une,b) 0000000000 0000000000
0000000 e 0000alphe;, 00000006000 U, 00000
0000000000 (i)« : m(Ui2,0) — m(Up,b) = m(X,bx) OO0
m(U12,0) 2 Z00000000[ai]az]laa] e ' OODOOODOOOOODO
ooooo

T (T%b) =2 (Z + Z) % {1} = (ay, a2 | wrazayla; 1) 2 Z x Z

obb4.90 0OODOOOOOOODODOOOOOXOOOOODOO

X ={(z,y,2) € R’ | ((2*+y*)'/? —2)24-22 =1}
U{(z,y,2) € R | z2=0,22+y?> <1}

ooooooooooooooboxgooooooooooToooooboon
ob20000

000 4.100 OO0 f:S'=R/2rZ — R* O
f(0) = (cos(20){2 + cos(36)}, sin(260){2 + cos(36)}, sin(30))

D[ID[IDRS—f(Sl)D[IEI[IEIDDDDDDDDDDDDDDDDDDD
goo

17



O 70049000 4.10

DDD:T%=«%%@|mﬁ+fﬂﬂ—a2+%=1}mmmmmmmmm
000000000000000000000

R*- f(SHDOO0OO ZOOOOODODOOOOOODOOOOOOOOO
00000000 70000000000260000

5 gogoon

000230000 X00OO0OoOooooooooooooooooooox =uUuv,
UNV=000000000000U,VOO0OO0OOz €U,z €V 000000
000000oood v:[0,1] — X O ~(0) =20, v(1) =2, 0000000000
00y Y (U),~~%(V)0ODO0OO [0,1]00000000000[0,1] =+~ H(U)uy 1 (V),
Y HU)NyTH(V)=00000000000 [0,1]00000000000000

0000000 [0,1]000000000000000 [0,1]000000000
000000000 UO0000[,1~U0000000000000W = {ae
[0,1|[0,a] CU}0000000000OOO0NO0OD e000000000W O
00000000000m=supWOOOOOm¢UDOO00000meU 0000
0,1]~U00000000m<1000000000000000¢e>00000
m—am+@cUDDDDMm—;CUDDDDMm+%MuLm+%eW
0000OmO00000000000000000me[0,1]~0U00000[0,1]~U
000000000000000>00000 (m—e,m+¢)€0,]]~U0000
[am—g]cUDDDDDmuDDDDDDDDDDDDDDDDDDDDDDD
0,1]00000000000000

000260000 fo, A00DDOOOO0F:[0,]xX —YDOOOOF :
[0,1]xW — Z0O F(t,w) = g(F(t,h(w))) 0000000FO000000Ogo fooh
Ogofioh00DDDODODODODO

000 270000 000 f~ f00000000f:X — YOOO F :
0,1]x X — YO F(t,z) = f(x) 000000000000 fo~ fi = fi~fo
O0fo~ A000000000 F:[0,1]xX —YOOOOF :[0,1]]xX —Y
0 F(t,z)=F(1—¢2)0000000000000000 fo~ fi, i~ fo =
fo~ 00fo~f, A~ f000000000 F :[0,1]xX —Y, F:
0,1]xX —YOOOOF:[0,1]xX —YO

F1(2t,x) g t

A
_ N =

F(t,x) =

B@2t—1,2) =<t<

0
L
2
Oo0ooooooor0OO0029000000000D0fh~ 000000000
oooo

0002110000 (1) XOOOOOOOOOKOOO ¢0000f|{g}00
X000 2000000 ¢,000000000000000000 f:K—X
0 X000 2000000 ¢, 000000000[K,X]0000000000
00X 000 2, 2 000002, 000000 ¢ : K — X, 2, 000000
¢, K — XO0DOODODODOODODOODO0ODO0D0O0Ope KOOOOOODODO

18



00 F:[0,1]xK — X0 [0,1]x{p} 00000000F(0,p) = zo, F(1,p) = z1
gobooooboooooboobooxooobooooo

(2) pdo0=(0,...,0000000r : Map([0,1]",X) — Map({0},X) 00O
0000004 : Map({0}, X) — Map([0,1]", X) O i(h) = cno) 0000000
ODO0Ocno) 0 R(0) 0000000000 00000r04 = idyapgo.xy0 000
(tor)(f) = ¢ 00D000000f ~g:I" — XOOOOr(f) ~ r(g) :
{0} — X 0000w ~wv: {0} — XOOOO4(u) = cuo) ~ Co0) = (V).
00007 @ [[0,1]",X] — [{O},X], 4. : [{0},X] — [[0,1]",X] 000000
reoiy =ide;.xy 000000004 00000000004 0000000000
f:I"— X0 f(0)000000 ¢y 0000000000000000000
0000000 F:[0,1]xI" — X0 F(t,z) = f(tz) 0000000
odd 2180000 000 X ~X0O0O0OOOOUDODOOOOOOOOO dx
gbooooboobooboob0 X ~Y =Y ~xXUOOOOOOOOOoOOOooooo
Xo~ Xy, Xi~¥Xe = Xox X OOOOOODOOOOODODODOOOOOO fo-
Xo—)Xl,fl:XlﬁXQDDDDDDDDDDDDDDDDD go:)(l—))(o7
glZXQ—>X1DDDDf()OgOZidxl,goofoﬁidxo,floglZidXZ,glofl";-‘iXm
O0000000000000260000000fi0ofo 0000000000 goog:
gobodoooooobooooooon

(fiofo)o(googi) =fio(foogo)ogr ~ fioidx, og1 = f10g1 ~idx,
(googi)o(fiofo) =goo(giofi)o fo=gooidx,ofo=goo foidx,

oob 21900000

0002220000 (1) 00 8" ={(cosb,sinf) € R® | R}OOOOO00
0000000000000 MOOOOOOFf: (cosd,sinf) — (2cosb,2sin b, 0),
000000000000000

g: ((24+rcosB)cos26,(2+ rcosb)sin 20, rsin ) — (cos 26, sin 20)
000000Ogo f =idgt,
(fog)((2+rcosB)cos26,(2+ rcosh)sin26,rsinf) = (2cos 26, 2sin 26, 0)
D0DO00H:[0,1] x M — MO
H(t,r,0) = ((2+ trcosf)cos 20, (2 + trcosf)sin 26, t rsin §))

00D000H(r,60) = H(t,r,0) 00000 H, =idy, Ho= fog000D0000DO
S'~MOOO00O

0000000000000000 ADDOD000000:000400 §'0
[IEI[I[Ip:w:(xl,xg)b—>Hi—HDDDDpoi:idS17(zop)() 2 pgooo

Fi(x) = H T O0000F =ida, A =dop 0000000 Slf:A[I[I[I[I
(2) AUDUO R’00000000D0000000D ADOODOOO ¢O0O

O00c0O00 A0 200000000000000O0DO0000O0O0O0ODOOOOO
000 2200000c00000 R?°02000000000000U,VOOO
O0c(t) cADDOODOU,VOODOOODODDODOOUNA, VNADOOUOOODOO
UNA VnNnAOOOOODOOOOO

000000000 MOOOODO f#SYHooooo

{((24 rcos®)cos 20, (2+ rcosf)sin 20, rsin f) | re(0,1), # € R} C R’
00D0(0,1)x R/(2rZ) 000000000000
O000AO0 MOODOOOOOO

0002230000 (1) P=R*~{(-1,0),(1,0}0 X = {(z,y) e R? | (z +
1)’ +4?=1}00000000000000000 f:P—X0Oa=(2,y9)0
ooo

LT e (e—el 1000 221)
) Hg_ng
€T) = 1
TEO o (le+el£1000 z< -1
L o (o talS <1

(z,£vV1—22) (le—e] 2100 |[x+e| 2100 z€[-1,1]Ly

19

=0



0000q+: X —PO00O0Ofoi=idx,i0of~idp 0000000000000
F(t,®) =te+(1—t)(iof)(x) 0000000

1 1

000Q=S8*xS5"<{(0,0}0D Y:{(x,y)ESIXSI|x:§[I[I[I y:§}

DDDDDDDDDDDDDDDZ:LJ:hﬂxmﬁnnvzm—;%

2
ooooo
272
000O00%:W—2Z00000000

1 x
 2max{|z1], [z2[}
0 0goi = idw, 0§ ~idz 0000000000000 F(t, ) = te+(1—t)(i0g)(x)
0000000S'=R/Z0O0O0O00p:Z—QO0O0000p(W)=Y OOOO
000000 §,:000000g:Q —VY,i:Y —QO00000goi=idy,
iog~ide D0DOOY D QOOODOOOOOOODOO
X0YyOoOoOoOooOoOooOoOoO02180000P0 QUOOOONOOONOOODN
(2) P=R*~{(~1,0),(1,0)}000 RROODODOOODODODOOOOOOO
PODOOODOOO ¢c000D00cOO0O0 PO 200000000000000000
00000000000000 220000000000 R*020000000
OD0000 U,VO0OO0OOOe(t) e POODOOOU,VOOOODODOODOOUNP,
VNAPOOODODODOODOUNP,VNPOOOODOODOOO
ooosStxstooooo Slx{%}DDsleI\{(O,O)}EIDEIDEIDEID[ID
(Slel\{(0,0)})\Slx{%}zslx(—%,%)\{(o,o)}[I[I[I[I[I[I[I[I[I
OD0D00R*~ {(—~1,0),(1,0)} 0 S* x S* < {(0,0)} 0000000

g:Z— WO g(x)

ooo2270000 4:(B™, 8" — (R, S Hhooooood; : (R™, 8™ —
o z (=l £1) S o
(B ,S )[I](a:): ﬁ (Hmuzl)DDDDDD]OZZId(Bn’Sn—l),ZO]Z

T
idgn s»-1y 0000000000000, Fi(z)=(1—-t)(ioj)(z)+te 0000
000
(R",R"~B")00(R",R"\B}),) (B}, ={z € R" | ||z|| £ %}) ooooooon
(B", 8" ")~ (R",R"~\By,,) 0000000i:(B",S""!) — (R",R"\ Bf),)

- n n n n n—1 . 2z (HwH g 1)

[Ed
00000 o0i=idgngn1) ioj~idmnrrsy, 0000000000000,

F(z)=(1—-t)(ioj)(z)+tx 0000000

uono 2290000 f00000000D0DOOO0O0ODOOOOOOfO0DOOO

0000000 f'00000000000f00000000000000000
00000000000000000000000 p:X — X/A0000

UcC X/AO AJADODOOOODODODODOOO0p '(U)Cc X\AODODOOOOOO
fU)=fp {(U)0000D00Y~N{b})00D000000YOO00DO00DO

UCX/AOD A/J/ADDD0ODOOODOOp Y(U)D ADDODDODODODOO0
OX\p '(U)0DODODODOOXO0OO0OO000000000000000000
OO000fX~p Y (U)0YOODOODDOOOOY DOOODODOODOOODOO
f(X~p~'(U))0D000000000 f(U)=fp ' U) =Y ~ f(X~p '(U))
00000000
0002310000 ooo ([o,1]*,80,1]") 0000 (D", S HOooooooo

oooo f:(o,1",90,1]") — (D™, S" )00 flx) = 2&¢ —(1,...,1) 0000
0o f:([0,1™,0[0,1]") — ([-1,1]",8[-1,1]") 0 Og: ([-1,1]",8[1,1]") —
(D"7S"’1)DDDDDDDDDDDDDDDDDgDDg(w):maxﬂxl"';”"'x"'}w
(x£0),9(0)=00000000

D"/S"™' — $" 00000 h: D" — S"0000000A) = (1—
2, 2y T=T2lBa). 000 [h(@)|? = (1 - 2Jel?)? + 4(1 — | |=]? = 1
D0D0D000D0000000000 (y,y) € S"0000y # —10000x =
;yDDDDh’l(l,O):Sn’l[IDEIDh|D"\S"’1[IDS"\{—el}
V4= (14 yo)?
(e1=(1,0,...,0) 0000000000D 000000000000 0O0 2.290
000 (D"/dD", D" JaD™) ~ (S™,—e1) 0000

20



000320000 (1) A~fl, e fs0000 fitfo~ fitfe 000000

fi~fl, fo~ 0000000000 F :[0,1] x (I",0I") — (X, bx),
Fy:[0,1]x (I™,0I™) — (X,bx) 000 000FEF, : [0,1]x (I",0I") — (X, bx)
O

Fi(s,2t1,8) (€0, %D
B@jm—Lﬂ)(hGgJD

00000 AL~ ff400000000000000

(2) (Abf)ifs ~ fill(fhfs) 0000000004 0000000000000
(fibf2)bfs 00 400000000 fif(folifs) 00 400000000000000
0oooooo

(F1hF2) (s, t1,t) = {

Alt)  (helol])
(([lif2)if3)(t1, ) = § f2(4t2 — L, E))  (t1 € [1, 5))
fa(2th — 1, t) (1 € [5,1])

K0t (el i)
(Ful(f20f3)) (11, ) = Q fa(dt1 — 2,8))  (t1 € [lé])
ﬁ@u—&ﬂ)(me[?ﬂ)
DOOD000O0 F(s,t,t) (s€[0,1]) O
T S IR R (R
Fs,t1,t) = fa(s+4t, —2,t) (ue[lzﬂQZSD
R T =)

0oooooo
(3) fo fice, 0000 f~e,bf0000000

1

2t1,tl t1 0, =
(ficoy ) (t1, ) = {f( ) (e [1 2])
bX (tl € [5,1])

00O0O0se€(0,1]0000

! 1
F(s,t1,t) = {f((l+s)t1’t) (t1 € [07 m])

B bx (t1€[1+871})

ooooooo
(4) fif~a, 0000 fif~a, 0000000
F@0LE) (e [07%])

(F)(tr,t) = 1
f@=20,t) (b€ [3.1])

ooog
bx (t1€[0,%})
/ 52
F(s,t1,t) = S = t) @1€J2722
f@—2n—&ﬂ)(he[?1—ib
bx (t1€ [1—%71})
ooooooo

oogd 350000 pry : X xY — X, pry : X xY —YOOOOOOO
f:(I"0I") — (X xY,(bx,by)) 0000, fx =pryof: (I",0I") — (X, bx),
fy =pryof: (I"oI") — (Y,by) DODOOUOOOOOOO ((pry)s«, (pry)«) :
7Tn(X X Y, (b)gby)) —>7Tn(X,bx) X Wn(Y,by) gooooo
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D00000000000000]g] € m(X,bx), [h] € m(X,bx) 00000
(g, h): (I",0I") — (X X Y, (bx,by)) 0 0000pry o(g,h) =g, pry o(g,h) =h
ooooao

O0o00000000000000fx e, 0O0O0O0O0O0O0O0OO FX:[O,I]X
(I",8I") — X, fy ~ ¢, 0000000000 Fy :[0,1] x (I",8I") — Y O
OO000F = (Fx, Fy): [0,1] x (I",0I") — (X,Y) 00 f ~ ¢y pyy) 00000
oooooooo

oo 360000 ODDODDOO0DUODO0DODODODOD0OODOODOOOODOODO Ky, Ko OO f1,
f2 : (In7(9]n) — (X,b) ooo DFKLKZ 0 K, 00 (fl)K17 Ko OO (fg)K27
"\ (KiUKe) 0 6000000000 fibfs = Fo 1yym1,21xm-1, f28f1 =
F[%,l]xmfl,[o,%]xmfl boodd

F[o,%]xmfl,[

~
%’1]><1n71 = F[O,%PXI”*Z,[%,1]2X1"*2

~ F[%J]X[O’%]X11L727[0’%]X[%}1]X11L—2

~

= F[%,l]xm*l,[o,%]xmfl
0o00Oo0000000ooo K =,
[£,1]xI"720000 F,.q) K(l),ng:[g,lT}

lt’
(2

} x 1" 0000 Fe @), K =[3,1] x [0, %] < 172, K = [0, 3] x
[

Al xI"?20000 F <3>K<3>DDDDDDD
000 3.70000 by,by € X0OOOOObx, b 00000 v ((0) = bx, v(1) =
Ve )ODOOOt = (t1,t) = (t1,...,t,) € I" 000 Odist(¢,0I™) = min{|t1], |1 —

— l\)l»—‘ I\DI

w|\

ta]r - ltnl, 1=t} DO O Of € Map((I™, 81"), (X, bx)) D00 07, f = (I, OI™) —»
(X,b’X)DDDDDDDDC:(%,c’):(%,...,%)DDDD

_ . [~ —4dist(¢,0I™)) (4dist(¢,01I™) £ 1)

T4l =0 flet 20t - ) (4dist(t,0I™) > 1)

08000000 ge Map((I™,0I"™),(X,by)) D00 0yug: (I",81") — (X, bx)
gooooooo

_ [(4dist(t,01™))  (4dist(t,0I™") = 1)

T#I T gle+2(t—c))  (4dist(t,0I") > 1)

¥, 00000079, : ma(X,bx) — m(X,bx) 000000000007,(f) =
Y (O V4 (f1)V4(f2) ¥4 (frllfe) DOODOOO
0000000 7,(f) =7,f0000

000 fi, fo 2 (I"0I") — (X,bx) DO000075,(A8f2), (Tpf)i(T4f1)
(I",8I") — (X,byx) 0000000000000 0000000000

F(S t17 )
1 1 1 n—
% +E (), ¢ 2t~ €) te[§+§%+§}x[%§] :
S ’ ’ ’ S S n—1
2 54y 20t — ) te[2-2 L 3 =2
2q-g i AT =) telg-g 5 —glxlg ]
~(a(s, 1)) t000000D00D00
gooo
- 5
B . |t1] |1 —t1] ) s (4 -1
a(sﬂﬁ)—l—mln{l—k1_571 T—5' 1 +1—s,4dist(¢', 01" )}
8 8 8 8 8

00000D00000000000000090000
00007, : m(X,bx) — m(X,bx) 0000000

000 4% 000000 7. : m(X, bly) — ma(X,bx) 000000
v47,f0 f00000000000000D0000000000000

F(s,t)

(4 dist(t, DI™)) (dist(¢,01m) < 128

)

=9 7(3(1 — s) — 8dist(t,0I™)) (% < dist(t,01") < %)
31=s)y

fle+(4—3s)(t—c) (dist(¢,01") =

22



08 00370 dist(t,0I")<iooooooO

1
1

11|11
|

09 00370000
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000 3.80000 00O 2310000([0,1)/{0,1},{0,1}/{0,1}) =~ (S*,bg1) O
0D0000a: ([0,1],{0,1}) — (X,bx) DOOOOS* =[0,1]/{0,1} 00000
Cla):8' — X000OD0DD0O00 m(X,bx) — [$H,X]00D00000D0DOO0O
C—[SL,X|00000000000000[8][o)[f]" € m(X,bx) 0, (B1a)sB 0
0000000000000000B(¢) =8(s+(1—s)t)00000C((Bsh)88s)
0000000000000000 C((Bya)sB) 0 C((Biha)sf) 000000000
0000000000 (Biha)gbr = (ecrxla)ies, ~a 0000C((Bha)tp) ~ Cla) :
St — X0000

ooooooooof: St =10,1)/{0,1} — X 0O000Obx O f(1)0DD
00 y:[0,1] — X (7(0) = bx, (1) = f(1)) DO0O00GHyy0OOO00
[(vef)y] € m(X,bx) 0000000000 C((vaf)Fy) ~ 0000

00000000q, B: ([0,1],{0,1}) — (X,bx) 00D000C(a) ~ C(B) :
S' — XOOOOF : o, 1]><Sl [0,1]x([0,1]/{0,1}) — X 0O C(a), C(B) DO 0
00000 (Ce)(t) = F(0,1), C(B)(t) = F(1,t)) 00D 0O5(s) : ([0,1],{0,1}) —
(X,bx) 0O y(s) = F(s,1) 000000p: [0,1] x [0,1] — [0,1] x S* O p(s,t) =
(s,[t) DO D Da(t) = (Fop)(0,1), Bt) = (Fop)(lt), v(s) = (Fop)(s,0),
3(s) = (Fop)(1—s,1)00000A)EY =~ a: ([0,1],{0,1}) — (X,bx) OO
00a, BD771(XbX)DDDDDDDDDDDDDDDDDDDDuG[0l]EID[ID
(

1-—
[0,1] x [0,1] OO (0,0), (u7—) (u,
DDDDDDDDDDDDDDDDD

(4tu, t(1 — u)) te o, ‘_i]
A(u,t) = (u7(t—i)(3u+1)+1;u) te[%@}
((2=2t)u,t(1 —u) +u) te [5,1}

000390000 0000 h: [I™/0I",8I"/dI") ~ (S™,bsn) DO OO Op :
(I™,0I™) — (I™/0I™,01"/0I™) 00000 OO0 f: (8" bsn) — (X,bx) OO
O00f = fohop: (I",8I") — (X,bx) 000000000000 g: (I",0I") —
(X,bx) 000000 g: (I"/dI",dI"/I™) — (X,bx) OO0 gop=9g00000
0000000goh™!: (8" bsn) — (X,bx) 000000000000 (hop)*
Map((S™, bsn), (X,bx)) — Map((I™,01™),(X,bx)) 000000

DDDDfo f1.(Sn,bsn)—>(X,bx)DDDDfoOhOpﬁflohOpDDDD
O (hop)* : [(S™, bsn), (X,bx)] — m(X,bx) 000000000000000
goooooooobooobooooooooobobooooobooboooooobooooooboo
fo, f1: (8™, bgn) — (X,bx) D000 foohope~ fiohop0OOO0DODODO
F[0,1] x (I",0I") — (X,bx) 000000 E:[0,1] x (I"/0I", 81" JoI"™) —»
(X,bx) 00000000 foohop~ frohopd 00000000 fooh~ fioh,
0000 fo~ 0000
000 3100000 p: (I",0I") — (I"/I",0I"/8I") 00000, 0000
h:(In/81n78]n/81n)—)(Sn,bsn)DDDDDDbsn:—61:(—1,0,...70)D
oo
XO0O0O0O0O000 m(X,bx) 2 {0} 0000000 f:8!' — X0000O
fohop : (I",0I"™) — (X, f(bs»)) 0000000 3.70000 (X, f(bsn)) = {0}
000000 390000 [(S™bsn), (X, f(bse))] DOOOODOOOF : ([0,1] x
(S, bsn) — (X, f(bsn)) DO F(1,z) = f(z), F(0,2) = f(bsn) DO0ODDO0O
000000000 2120000g: D™ — X0O0g|S"=f00000000
oooo

ooo f:S" — X0OOOOg: D" — X0Og|S" = f0000000
O000007m(X,bx) 000000 a: (I",0I") — (X,bx) 0O 0O0aoh™" :
(S™,bsn) — (X,bx) 0000g: D" — X 0O g|S"=aoh ' 0000000
O00te[0,]0000kg: (S™,bsn) — (D™ bgn) O ky(x) = t(x +e1) —er O
O0Ogokiohop: (I",0I") — (X,bx) OO (gokiohop)(0I™) =bx 00O
OO0gokiohop=al gokoohop=c,,, OO0O0000000O0O0O0O0O0O0OO
m(X,bx)=00000

24



0003110000 00d:I" — RO d(t) =dist(f(¢), R*~U) 000000
ti,t, € I"0000|d(t1) —d(t2)| < ||f(t1)— f(t2)| 0000004000000 0d
000000000/"000000000000 000000000g:1" —U
0 Osupyern l9t) — ()| <e 00000000g(E), f(4) 000000 U000
ooo

DDD3J2DD[W]DD&HDEDDDDDDfy[”—aUDfF:{ﬂC+%t—@)

00000D00AD fO0000000D0000O

DDDDDDDDDDﬁDDDDDDDDDDDD61<%DDHU—QH<&D
00 |[fi(¢1) — fi(t2)| <eOODDODOODOO0pO {te R |t <&} 0000
DC”DDDDD/p@dhmdm:lDDDDDDDDDDpDDDDDDDD

DDDp*ﬁ@y:/}dgms—wdanwmnDDDDDDp*ﬁJJCMDDD
1

00 dist(¢,01") £ 7 0000 fi(8) =b0000(px /)OI =b0000000

lo* fi(t) — A®)] = H/(fl(s+t) — f®)p(s)ds1 - d s < /Ilfl(s+t) -

fil®)|lp(s)dsy---ds, £c000000 3110000 f, px 20 U0O0000D0
00000D000000p+f 00000 C®000 ¢0000

0000000000A000000000|ti—t2|| <6000 |[fi(t)—fi(t2)] <
%DDDDDDDDDDDD]V>3?DDDDFDDDDDDDNDDDD
(N>24)00000 N"0OO00D000 2 000000000000007"0000
0000 {(tr,- - tn) | 1 2 teq) 2+ 2 ts(n) 20} (0 €S, (nOOO0O))00OD0
DDDDDDDDDDDDD?MI”—aUDDD(%w”7%)DfN%V”€@
0000000000000 000000000000000dist(t,oI") <
O00fA@E) =b0000(,)(0I") =b0000Ot € I"ODOOOtOOO0
DDDt1DDDDDDDDDDDDDDDDDDDDDDDDD%DDDDDD
Hﬁ@ﬂ—fﬂﬂﬂé%DDDDHE@%—ﬁ@W:wﬁﬁw—?ﬂh)+ﬁ@o—fdﬂﬂz
If1(®) — Fi@)] + [[/1(8) — AA®)| Se 0000 f,0000000000000O0

1
-0
4
oo

000 3.130000 (S™,bsn) 00 (RN {0},bs») 000000000000
OO d:(S" bgn) — (R~ {0},bsn), 0000000 p: (R {0}, bgn) —
(S",bsn) 000000000000 000f: (I*,81%) — (S™,bs») D00 0o f
(I*,01%) — (R"™' \ {0},bs) 000 3.1200000000000000000
00000 ¢g0000000000000000pog00k<nOO00O0S"O00
O00000000000g00000000000pog000000DOODODOO
000000000000000¢g0000000000000000000000
000 kO0O0D0D0O0DO0OC0OOR™ 000K+10000000000000pog0
D00000000000000000000 S"0000000000000pog
000000000

O00Opog: (IF,0I%) — (S",bs») 000D 00O000 ye S 000000
(S"~{y},bs») 0 (R™*,0)0000000(R™0)0 ({0},0) 0000000000
0000pog=~cy, 0000

00000m(S",bsn) 20000000

000 38.140000 4 000000000000 f: (I*01% — (U,b)000
03120000000000000000000000 ¢: (I*01* — (U,b)00
O00000000k<nO00000 g% 0000000000000 0O00O0O0
p & g(IF)0000i[g) = [f] € m(U,0)) 0000p € g(I*)0000p0 0000000
U0000000000000000 ¢:00¢:i(p)¢€g(I*) 000000000000
000¢ € U~g(I*)0O pO0000000p0000 ¢—p00000000000000DO
D0000p¢ (¢-109)(IF) 000 04[p-10g] = (¢-1).[g] = [9] = [f] € (U, b)
oooon

. 000000000000f: (I%01%) — (U~ {p},b)0000i0 f ~ ¢ :
(I*,01*) — (U, b)) 00000000000 F:[0,1] x I* — U 00 F(3([0,1] x

M)ycu~{p}0000000000008([0,1]xI* D00 VODOOOFEFYV)C
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dist(t, O1™)
dist (¢, 01™)

z
=

IS



U~{p}0000003110000000F00000 [0,1]xI*\vO00000
0ooooooooog G:[0,1]xI* — UuooaG|a(o,1] x I¥) = F|a([0,1] x I*)
DO0DOO0OFOA0,1]x " 0000000000000 0000000O0ON
k+1<n00000 G(0,1] x ") 000000p00000000000000
p € G0, x I DOODOGO fe~e: (IF,01%) — (U~ {p},b) J00000O
D00000D000pe G(0,1]x ) 0D000p00000000 UODOOODOO
0000000000 ¢ 00¢i(p) €G(0,1]x ") 00000000000000
O00¢_10GO0f ~c: (I*,01F) — (U~ {p},b)) 000000000000
00O

0dd4.10000 DO 35000000000000000D00DO0O00O0OOO
wl(T",an)%m(Sl7bsl)><-~-><7r1(Sl,bS1)%Z".

000420000 foi=idet 000 fO00DD00 fuix =id,, (g1, =idz OO
0000000m(D?b)~{1}0000f4,=0000000000

0004.30000 R?>~{0}0 R"~{0} (n>3)0000000000000000
0000 h: RPN{0} — R*~ {0} 0000 7 (R*~{0},b) = 71 (R™ ~ {0}, h(b))
O0000m(R*~{0},b)=Z0000 3130 m(R™~{0},h(b)) =000000

000440000 (O) dist(z,a) < dist(z,y) +dist(y,a) 0000000000
0000 infoesa 00000000000000 infaea 0000 Dinfaea dist(z, a) <
dist(z,y) + infecadist(y,a)00 000 da(z) < dist(z,y) +da(y) D000z, y O
000000000000 0|da(z) - da(z)| < dist(z,y) 0000000000da
0X0Oooooooooo

2 fi,..., 00004 =N, feeX|fi2/000004,00000
D00000000000X =", A 0000400 FlA = £]4, 00000
goobooo290000F0000O0DOO

(3) XD0OOO {Uy,...,0,} 0000 U; 0000 fi(z) = dxw,(z) O fi :
X —ROODOOOOF =max{f1,...,/,} 000000FO00000ze X00O
0000 U; 000000002000 00 B(e)0 U;0000000MFOD0
00000XO0O0O0000000000FO0006>0000000000000
000204600 B,(6) 0000 U, 000000

000490000 0,00X00000000 7%= {(z,y,2) € R* | ((z*+
yHY? —2)* +22 =1} 000000 XO0OOOO0O D? = {(x,y,2) € R* | 2
0,2°+3> £ 1} 0000000, =UhiNnU:000 S = {(z,9,2) € R® | 2
0,24+4?>=1}00000000000000000000 b= (-1,0,0)00
007w (U, b) = m(T%b) 2 Z x Z, m(Us,b) = w1 (D?,b) = {1}, m1(Uia,b)
m(SY,b) 2 ZO0O0O0m(U,b) 00000 D0ar(t) = (=2 + cos 27t, 0, sin 27t),
as(t) = (—cos2nt,—sin27t,0) (¢t € [0,1]) 000000 a1, ae 00007 (Ur2,b)
D0 000000 e 0000000000000000

R &

T (X,b) =2 (Z x Z) % {1} = (a1, a2 | arazar tas ' az) = Z

000 4.100000 00DO0O00O0O00 7?0000 600000000 T?°N(R? -
fSN) O S x (-1, 0000000R*—f(SH OO T°N(R*—f(SY)Y)YOODO
U O T*’N(R*— f(SY)) 0000000000000 DO00O0OOOOU, OO
O00e < 0.01 0000dist(x, 7% N (R* — £(SY))) < edist(z, f(S*)) 00000
UD0U00DO00O0O0OR*\T?0000000 U 00DO0 Uy, R*\T?0000
D000 000000 0.0000my(P*)00000000000000U,00
S'xInt(D*) 00000007 (Ur,b)=Z0000U,00S8" xInt(D*)~ {00 }
00000000000000000 7°00000000 /3000000000
00000000000000000000000000000000000000
3400008 xIng(D*) {00 }00000 S$*'xInt(D?) 0000 ZOODO
oooo
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0O 10: 00 4100000000000

000 Z 2w (Ui, b) — m(Ur,0) 2 Z 00000 a2 € m1(Urz,b) O (a1)* €
Wl(Ul,b)DDDDDDDDCMD 7T1(U1,b)DDDDDDDDDDDZ%?H(UQ,I))—>
m(U2,b) 2 Z 0 0OU0OO ai2 € m1(Ur2,b) O (a2)3e7r1(U1,b) boodbdobdas
O0mU2,0) 00000000000 0OO0ODOODO

1 (R*~ f(S"),b) = 71 (Up,b) i (l;k o m1 (U2, b) = (a1, a2 | (a1)? = (a2)®

000 G=m(R*~ £($"),p)) 0000000000

G*™ =~ (Zay ® Za2)/Z(2a1 — 3a2) = Z

000000000000 h: Za ® Zas — Z O h(kiar + kaas) = 3k + 2k O
00D0000ker(h) = Z(2a1 —3a2) 0000000 GOOO0O0OO0O0DD00Ss
0,00000000 {1,2,3}00000000000 G— 80 a1 — (12)00
00,a — (123)00000000000000000008 000000000
000 GOO00000000
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